TIEEREHHEERICE D IEALBEAREDRAD AR (FH6FEO A LK)

1 TEERHEEIEE19REOEICED <EBHEDRERRD AR

OEMBENE FhLLENEIE (%)
B 5=
BHEEOS R HE e R1EE | R2ZFEE | R3FE | R4EE | R6EE
i)\ B 5% E | R7TEE 0 0] 15.0 0.0 0.0
%)
12 Sl RIZEE | R2EE | R3%E | RAFE | REEE
EEBROREELE | BE | & £ = 3 3 £
e el
SDEE ) % £ _ . _ . .
HW%XE%JEE\@%U’S 50% R7%EE 11.1 10.0 15.8 10.0 35.7

2 TEREHEE RS2 1RICE D <L DRFERIRICE T S IFHRO AR

«BEERICHITIRZDRMICET DRE>

(MEHEBEDHEAEIS (%)
RIFE | R2FE | R3FE | RAFE | R6FE
EHHE - - 50.0 - -
NEBESF - - - 100 -
HBHRE 0 0 0 0 36.4
Q) FKAHRZREDLIEES (%)
RIFE | R2FE | R3FE | RAFE | R6FE
EHHE 0 28.6 50.0 - -
NEBESF - - - 100 -
HEARE 0 5.3 9.1 7.4 15.6
(3)BEDNLIEEIS (%)
RIFE | R2FE | R3FE | RAFE | RE6FE
FEBE 31.4 35.1 35.1 35.3 32.4
NEBEF 91.5 91.4 90.9 88.9 88.5
HEEE 2.1 2.1 2.1 2.1 3.7
(4)BIEHEREOBEDRIEES (%)
RIFE | R2FE | R3FE | RAFE | R6FE
SRR 0 0 0 0 0
E 0 5.9 6.3 0 0
ARRAIEIR 0 0 0 0 0
Rk 16.7 13.5 15.2 19.5 21.4
REMRILE 10.0 9.6 Eas 9.6 10.6
AL 0 4.8 5.0 0.0 0.0
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(1) BLERIDEEREER(SHSFEE)

B (%) | ZE(%)
24T 0.3%| 0.0%
25~29m% 0.6%| 0.0%
30~347% 0.9%| 0.0%
35~39m% 0.3%| 0.0%
40~447% 0.3%| 0.6%
45~495% 0.0%| 0.0%
50~54m 0.3%| 0.3%
55~59m 0.0%| 0.3%
60mA L 0.3%| 0.3%
(2)BEHINE RAEIREE R UHIRGEHIRE (S5 FE)
Bt Eeqid
BIEAEREEHRN) 0 0
B IRAEEREER(%) 0.0%| 0.0%
FHIRGHAE(H) 0 0
(3) BHDERELEENRRU S RENKROEFINR (%)
RIFE | R2FE | R3FE | RAFE | R5FE
Ao LA RIRERIGER 17.6 11.1 5.0 15.8 35.7
B RS IARRERG R 0 11.1 20.0 21.1 42.9
[Eolaa D R B & O 8 B Dk
e aat 5B LEGUIZRE DR 0 11.1 10.0 15.8 35.7
(4)EE—AST7ZY DEREFEDIRS (B5fE)
RIFE | R2FE | R3FE | RAFE | R6FE
B3 9.0 7.3 7.0 9.0 9.1
(5)BE— A=Y DERNRFREAL (H)
R1&E R2F R3F R4F R5&F
F¥ 4.8 5.5 6.7 6.0 6.1




